
Student Name:

Date:                                                                  Grade:

Sheet 1

Verify the following formulas
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Evaluate the following integrals
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Evaluate the following integrals
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Find F(s) of the following functions

f(t) =  e-2.7t [cos(9.2t + 3)] +
2

3

-k /4tke

t
 +

2-k /4te
t

g(t) =  U(t-3)[ -e5t +2+ 3t2] + 5sin(5t+8) U(t- )

h(t) = t sin3tcosh2t +4sin23t
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Find inverse Laplace of the following functions
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Solve the following differential equations using Laplace

y`` + 2y` - 3y = U(t-2)(t-1), y(0) = 1, y`(0) = -1

y``+ y = f(t), y ( ) =  , y` ( ) = 2- 2 , where f(t) is given by

indicated graph  f(t)
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1 t
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Find the harmonic conjugate for the following

u(x,y) = x2 - y2 + y v(x,y) =  2xy + 3y



Student Name:

Date:                                                                  Grade:

Sheet 8

If f(z) = excos(ay) + i exsin(y-b) is differentiable at every point, then

find a and b.
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Evaluate the following integrals
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cos(z) dz
z 6z +5 , c is the circle ǀzǀ = 4
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Find residues of f(z) =
2

3

2
z 5z +7

(z -1) (z 3z -4)



using Residue theorem –

Laurent series.
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Find Parabolic equation that fit (3,5), (15,114), (19,201), (23,330)

Find the constants of the curve y = acosx + b lnx + c ex that fit (1,3),

(5,14), (19,101)
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Solve the following D.E. using series solution about x = x0

       y``- xy = x+4                              y``+ xy` = x2+2
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Solve the following D.E. using series solution about x = 0

2x2 y``- x y` + (1+ x2) y = 0 9x2 y`` - (4+x) y = 0


